
50

Add. 41-42A, Ashok Park Main, New Rohtak Road, New Delhi-110035
+91-9350679141

: 

I 

II 

I II 

I II 

I II 

1. B > C = D  X; E  X; Z  D

I. B > E  II. Z  B

2. E > F  G  H  I  J

I. G  E  II. J  F

3. Y < A  B = C < Z

I. C < Y II. Z > Y

4. K  L < M > N  O; T > M  P

 I. T > K II. P > O

5. P  T  Q  R < S; A  Q > W

I. A  P II. W < S

6. P  T > Q  R  S; A  Q  W

 I. W < P II. R > P

: 

P  Q 'P, Q 

P @ Q 'P Q 

P  Q 'P, Q 

P # Q 'P, Q 

P $ Q 'P Q 

I II 

I 

II 

I II 

I II 

I II 

7. A # B, CA, D$C, B   F

I.  B @ C

II.  F C

8. A  B, C # D, A  F, B @C

I. B   F

 II. A @ C

        CODED INEQUALITY
9. A @ B,   BC,   D   A,   E #D

I.  BE

 II. C $ A

10. AB, C $ D,   A C,   D # E

 I.  CB

II.  C # E

11. AB,   C # A,   D   C,    B @ E

I.   A E

II.  A E

: @,  $ % 

'P  Q' 'P, Q 

'P  Q' 'P, Q 

'P @ Q' 'P, Q 

'P % Q' 'P, Q 

'P $ Q' 'P, Q 

I II 

(1) I 

(2) II 

(3) I  II 

(4) I II

(5) I II

12. H  @  K,   K % D,    D $ B

I.   H   @  B

II.  B@

13. M  %  F,  F R,  R 

I.   K  F

II.  M R

14. A  F,  H @ F,  M W

I.   M    F

II.  A 

15. R   M, M  W, T @ W

I. T 

II.  T  R

16. J  K @ D,  D $ F

I.   F  K

II.  F $ K
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: @, $, #,  % 

'A @ B' 'A, B 

'A $ B' 'A, B 

'A # B' 'A, B 

'A  B' 'A, B 

'A  B' 'A, B 

I II 

(1) I 

(2) II 

(3) I  II 

(4) I II

(5) I II

17. H # T,  T @ L, L % F

I.  F $ H

II. H#L

18. V $ I,  I  M,   M # Q

I.  I # Q

II. I  Q

19. P @ W,  W  D,  D $ J

I.   J @ P

II. J @ W

20. E @ U,  U % R,   R $ F

 I.  E  $ F

II.  E  F

21. T # J, J  I, I @ W

I.  J @ W

II. T % I

: $, #, @,  % 

'P @ Q' 'P, Q 

'P $ Q' 'P, Q 

'P % Q' 'P, Q 

'P # Q' 'P, Q 

'P  Q' 'P, Q 

I II 

(1) I 

(2) II 

(3) I  II 

(4) I II

(5) I II

22. H   @   M,   M   $   D,    D   %   N

I. N   #   M
                            II. N 
23. R   #   T,   T   @   J,    J      B

I. B   $   T
                           II. J R
24. M   $  K,   K   #  W,    R    @  W

I. M   %   W

                            II. R 
25. Z      T,   T   %   D,    D      K

I.   K   %   Z

                            II.  D Z
26. A   %   F,   F      R,    R  $   B

I.   A   %   B
                            II.  B @F

( 27-31): @, ©, %,
$

‘P @ Q’ ‘P, Q ’.
‘P Q’ ‘P Q
’.

‘P © Q’ ‘P Q ’.
‘P $ Q’ ‘P, Q ’.
‘P % Q’ ‘P Q
’.

I, II
III

27. R @ V, V $ J, J K
I. K % R
II. J @ R
III. K % V

1) I 2) II
3) I II 4) III
5)

28. D % H, H @ V, V $ W
I. H % W
II. D % V
III. D % W

1) I 2) II
3) III 4)
5)

29. M $ T, T J, J © N
I. N % M
II. J % M
III. M $ N

1) I 2) II
3) I II 4)
5)
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30. N $ R, R © D, D K

I. K % R

II. D % R

III. D @ R

1) II III I

2) II III

3) III

4)

5)

31. F © K, K % M, M © T

I. T K

II. F % M

III. T F

1) I

2) II

3) I II

4) II III

5)

: @, $, ,  # 

'P  Q' 'P Q 

'P $ Q' 'P Q 

'P @ Q' 'P, Q 

'P Q' 'P, Q 

'P # Q 'P, Q 

I, II III 

32. W @ T, T M, M $ D

I.   W # D

II.  W @ M

III.  D # T

(1) I 

(2) II 

(3) III 

(4) II III 

(5)

33. F  R,   R M,   M $ D

I. D # R

II. D # F

                            III. M @ F

(1) I II 

(2) I III 

(3) II III 

(4) I, II III 

(5) 

34. V M,   M  B,   B $ F

I.  F # M

II.  B @ V
                            III.  F # V

(1) I II 

(2) II III 

(3) I II 

(4) I, II III 

(5) 

35. D # N,  N @ B,  B  F

I.  F $ D

II. N # F
                            III. N  F

(1) I 

(2) II 

(3) III 

(4) II III 

(5) I II III 

36. R $ T, T # K, K @ M

I.   R $ M

II.  T # M

III. R $ KT

(1)

(2) I 

(3) III 

(4) III 

(5) II III 
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CODED ENEQUALITY
1. 1 2. 4 3. 4

4. 5 5. 2 6. 1

  >
@  
   =
#   <
$   

7. 4; Statements:
A < B, C = A, D  C, B > F
or, F < B= C  D
Conclusions:
I.  B @ C   B  C  (Not True)
II. F  C   F > C  (Not True)

8. 5 ; Statements:
A = B, C < D, A > F, B  C
or, F < A = B  C < D
Conclusions:
I.  B  F   B  F    (True)
II. A @ C   A  C  (True)

9. 2 ; Statements:
A  B, B = C, D > A, E  D
or, E < D > A  B = C
Conclusions:
I.  B  E   B  E    (Not True)
II. C $ A  C  A    (True)

10. 2 ;Statements:
A  B, C  D, B > C, D  E
or, A = B > C  D < E
Conclusions:
I.  C  B   C  B    (Not True)
II. C # E  C  E     (True)

11. 3 ;Statements:
A  B, C  A, D > C, B  E
or, E  A = B  C > D
Conclusions:
I.  A  E   A  E    (Either True)
II. A  E  A  E    (Either True)
A is either greater than or equal to E.

(12-16):
    

 ©   
@   
 %   

$   
12. 2; H @ K   H  K

K % D  K D
D  $  B   D  =  B

 H   K   D = B
Conclusion
I.  H @ B    H  M (Not True)

     II. B @ K   B  K  (True)
13. 4; M % F   M  F

F © R  F  R
R  K   R  >  K

 M   F   R > K
Conclusion
I.  K © F    K    F (Not True)

     II.  M  R  M  >  R  (Not True)
14. 5; A  F   A  F

H @ F F  H
M © H   H    M

 A    F   H   M
Conclusion
I.  M © F    M    F  (True)

     II.  A  H   A  >  H  (True)
15. 1; R © M   R  M

M  W M W
T  @  W   W    T

 R   M   W   T
Conclusion
I.  T © M    T    M (True)

     II.  T © R   T  <  R  (Not True)
16. 3; J © K   J  K

K @ D K  D
D $ F   D    F

 J   K   D   F
Conclusion
I.  F  K    F    K (Not True)

     II. F  $  K   F    K  (Not True)
Clearly either conclusion I or conclusion II is true.

17. 1; H  T ... (i); T < L ... (ii); L = F ... (iii)
Combining these, we get H  T < L = F.
Hence F > H and 1 follows.
But H < L and hence II (H  L) does not
follow.

18. 3; V > I ... (i); I  M ... (ii); M  Q ... (iii)
From (ii) and (iii), I and Q can’t be com-
pared. But I and make a complementary
pair. Hence either I (I  Q) or II (I  Q)
follows.

19. 2; P < W ... (i); W  D ... (ii); D > J ... (iii)
From (ii) and (iii), W  D > J or J < W ... (iv).
Hence II follows. However, from (i) and (iv)
we can conclude that J and P can’t be com-
pared. Hence I does not follow.

20. 4; E < U ... (i); U = R ... (ii); R > F ... (iii)
From (i) and (ii), E < R ... (iv)
Now, from (iii) and (iv), E and F can’t be com-
pared. Hence neither I nor II follows.

21. 4; T  J ... (i); J  I ... (ii); I < W ... (iii)
From (ii) and (iii), J and W can’t be com-
pared. Hence I does not follow.
From (i) and (ii),  T and I can’t be compared.
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Hence II does not follow.
(22-26):

@    
 $    
%   
 #   
©   

22. 1; H @ M   H M
M $ D   M D
D % N    D  <  N

 H   M   D < N
Conclusion:
I.  N # M    N > M (True)
II. N © H  N = H  (Not True)

23. 5; R # T   R  T
T @ J T  J
J  ©  B   J  =  B

 R   T   J = B
Conclusion:
I.  B $ T    B    T (True)
II.  J % R  J  >  R  (True)

24. 4; M $ K   M  K
K # W K  W
R @ W   R    W

 M   K   W  R
Conclusion:
I.  M % W    M    W (Not True)
II.  R #  K   R  >  K  (Not True)

25. 2; Z © T   Z  T
T % D T  D
D # K   D    K

 Z   T   D  K
Conclusion:
I.  K % Z    K    Z (Not True)
II.  D #  Z   D  >  Z  (True)

26. 5; A % F   A  F
F © R F  R
R $ B   R    B

 A    F   R  B
Conclusion:
I.  A % B    A    B (True)
II. B @ F   B    F  (True)

27. 4; R  V ... (i); V  J ... (ii); J < K ... (iii)

From (ii) and (iii), we get K > J  V ... (iv)  From (i) and
(iv) R can't be compared with K or J. Hence I and II do
not follow. But, from (iv), K > V. Hence III follows.

28. 2; D > H ... (i); H  V ... (ii); V  W ... (iii)

From (i) and (ii), V  H < D ... (iv)

From (iii) and (iv), W can't be compared with H or D.

Hence I and III do not follow. But, from (iv), D > V.
Hence II follows.

29. 3; M  T ... (i); T < J ... (ii); J = N ... (iii)

Combining these, we get M  T < J = N.

Hence N > M. So I (N > M) follows.

But III (M  N)  does not follow.

Again, J > M. Hence II follows.

30. 5; N   R ... (i); R = D ... (ii); D < K ... (iii)

Combining these, we get N  R = D < K.

Hence  K > R and I follows.

Again, D = R. Hence II (D > R) or III (D  R) does not
follow.

Only I is definitely true.

31. 5; F = K ... (i); K > M ... (ii); M  T ... (iii)

Combining these, we get F = K > M  T.

Hence T < K and I follows.

Again, F > M and II follows.

Also, T < F and III follows.
32. 3; W @ T   W T

T © M   T  M
M $ D    M  <  D

 W   T   M < D
Conclusions:
 I.  W # D    W > D (Not True)

      II.  W @ M W  M  (Not True)
III.  D # T D  T  (True)

33. 4; F  R   F  R
R © M R  M
M  $  D   M    D

 F   R   M  <  D
Conclusions:
I.  D # R    D    R (True)

     II.  D # F  D  >  F  (True)
     III. M @ F  M    F  (True)

34. 4; V © M   V  M
M  B M  B
B  $  F   B    F

 V   M   B  F
Conclusions:
I.  F # M    F    M    (True)

     II.  B @ V   B   V   (True)
    III. F # V    F    V      (True)

35. 5; D #  N   D  N
N @ B N  B
B  F   B    F

 D   N   B   F
Conclusions:
I.   F  $  D    F    D    (True)

  

36. 3; R $ T   R  T
T  #  K T  K
K @ M   K    M

 R   T   K   M
Conclusions:
I.   R  $  M    R    M    (Not True)

     II.  T  #  M   T    M   (True)
     III. R  $  K   R    K     (Not True)
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